20244

= A
X XH
(=]

e

A & 0l & AFE B Al A

T 204 LS FHn S

RS
HH2EZH(ZMRSH)
J1=3H|

HEE

2A - HH . H(SH) - MRAIY - BES Ol AkoH Ol AFon Hlnsz
AHnEn 17,785,547 23,175,849 15,390,302
= 1,938,521
z 181,841
[ 727,637
z 14,937,548
HYLSHHH|(BHM RS 35,920 35,920 0
o123l 35,920 35,920 0
J|=23H| 35,920 35,920 0
201 LBt A 27,280 27,280 0
01 AFR2t2IHI 15,280 15,280 0
OYBt=2H| 11,200
07|12 AIR2EH] 100,000 %17¢! 1,700
OAIRD1D] & SAIEE 8,000,000 8,000
0J|Et==2H| 1,500,000 1,500
OZH(FMNsSY FRFA)
8,000 17Q1x304! 4,080
02 SZ2YH| 12,000 12,000 0
2R3 S 12,000,000 12,000
202 04H| 8,640 8,640 0
01 2UH0d| 8,640 8,640 0
ozlobl(=s&l)
180,000 +4 S+ 128 8,640
HHIXNSA(ZHLED) 3,600 3,600 0
SNERSH 3,600 3,600 0
ol 2 A 3,600 3,600 0
203 ZR=ZIH| 3,600 3,600 0
04 PARYALETI| 3,600 3,600 0
ORNSILRFEIY| 300,000 122 3,600
XEHH 245 2,174,239 2,316,107 A141,868
= 1,020
[ 61,074
z 2,112,145
XA EA 5 2,112,739 2,255,457 A142,718
[ 54,760
z 2,057,979
XNSEZH 23 =X 405,600 383,650 21,950
201 LEH2HH] 76,600 59,650 16,950
01 AFR2t2IHI 9,650 5,650 4,000
OTHTH S oY - 222 MR
1,00024+6000H 600
OZMHE S oHlf - BE 4o M=
55,0002 220K 1,210
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SAM ZRuS
3 XNSEEH g4gt

el XS3 XSt (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
SEEEICEEREEESN)
8,000 +621x80A! 3,840
OHEI I1ZA 4,000,0002 4,000
03 BALS | 66,950 54,000 12,950
ONIZHOl 43 2/2T2l0l T2 A
3,000,0002*63 18,000
OXEI| SHAHAE, SAH, CHYAIR)
13,000, 000423 26,000
OTSEAIE - &I AHIEX OIHIE
10,000,000 10,000
OZF - & -1 8 A T 2
12,950,000 12,950
202 Ot 14,400 14,400
NENEED 14,400 14,400
OXIS B ML 248
200, 0002621128 14,400
203 2= 3,000 3,000
03 ARSI 3,000 3,000 0
OZMISD Al
3,000,000 3,000
301 Y2 A S 6,600 6,600 0
11 BAFAHIXI 22 6,600 6,600
OXIPME 5= Al
30,0004x2001%33] 1,800
O20 AR A FE
30,000942001x53] 3,000
ONIZHO| &35t
30,0002%2001x33] 1,800
306 =13 200,000 200,000 0
01 &3 200,000 200,000
OMEEBENY &2 200,000,000 200,000
308 RHXISHHISOIA 100,000 100,000
14 J|EHRE 3 100,000 100,000 0
OXIATHALEE XA
100,000,000 100,000
402 QIZERF=0|H 5,000 0 5,000
03 DI2FR|EFALIH] 5,000 5,000
OZg z4dg I 5,000,000 5,000
HAEHAM LS 1,400 1,400 0
[ 700
= 700
201 LB 1,400 1,400 0
[ 700
= 700
01 AF222IHI 1,400 1,400 0
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2AM:

K ZH

AN DED
NS3H 2zt

cel NASMedst (Crel: me)
S - ZE - BRIEH) - MIRAIR - B e Gl inE=gt
OZ4d FHuSAY 1,400,0002 1,400
< 700
s 700
B0 ARE FASFZNLAS 66,000 80,000 214,000
= 26,400
[ia 39,600
402 S HE01A 66,000 0 66,000
= 26,400
[ia 39,600
02 QIZHH2 AT 2 A (01X THA) 66,000 0 66,000
O44TQ ATR BHBANEAL
2,000, 000& #3372 66,000
< 26,400
s 39,600
FY ceed SIYHAS NAEAY 10,520 21,000 10,480
= 5,260
[ia 5,260
307 glztold 10,520 21,000 /10,480
= 5,260
[ia 5,260
02 RIRHEAIAMHE R 10,520 21,000 /10,480
OZTY LS SIYFAT XA
10,520, 000& 10,520
< 5,260
s 5,260
A2 JIYEE HEAY 66,000 80,000 214,000
= 20,000
[ia 46,000
401 AlEHIZLSOHY] 66,000 80,000 14,000
= 20,000
[ia 46,000
01 Al&HI 66,000 80,000 14,000
OUHELBHAAEX] AFHEZ ALY
66,000,000 66,000
< 20,000
s 46,000
AOIEESE 25 K& 100,000 100,000 0
308 MXIEHISOIA 100,000 100,000
3 SIS0 UstE A AS A 100,000 100,000
100,000,000 100,000
KA &52 XA 1,457,219 1,533,157 AT75,938
201 L2 1,457,219 313,157 1,144,062
01 Al 1,442,219 313,157 1,129,062
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FA: BHLSH
3 XNSEEH g4gt

=l NS3NEdat (cro): =2l
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OLtEAIE A EA 2 XA 179,962
OXE AER L8 W 222
4,992,000,000 *2.45% 122,304
0DHIY AE e o sa2
7,488,000,000&*0.77% 57,658
OMER 018 oHY 2 2218
4,000,000& 4,000
OZHEANSERRINALAR LR
488,400 211 A~ 10,257
OAEANZAER EOIEHEI
12,480,000,0002 = 10% 1,248,000
03 A2 FH| 15,000 0 15,000
OUBAZASH 245 OIHE(YE S)
5,000,000 32| 15,000
24301 CIXIE - 220! 21Z2} &AM 6,000 10,000 24,000
& 2,400
= 3,600
402 QIZHERHE01A 6,000 0 6,000
& 2,400
= 3,600
02 QIZENEAMLE R (01X M) 6,000 0 6,000
OAATO CINE - 2210l 01X} XA
2,000,000 *3IH 2~ 6,000
= 2,400
o 3,600
HEZ0MSESH 44,800 44,800 0
& 800
= 44,000
S0aE 54 40,000 40,000
307 SI2t01 & 40,000 40,000 0
04 QIZISHAIAIREE X 40,000 40,000 0
O30S MAl - THOHEHAL 25,000,0002! 25,000
OetUA==HM S0EE= I
15,000,000 15,000
SUHSHEEHASAIRA 4,800 4,800 0
= 800
o 4,000
402 CIZERHE0|A 4,800 4,800 0
& 800
= 4,000
02 QIZENEAMSE R (01X M) 4,800 4,800 0
O3W3BNY HdH3 KA
2,400,000 200 2~ 4,800
& 800
o 4,000
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2AM:

.

ZHLESn

ol AHIXER B SOt CEREERD
A - BE - BRI(E) - KIRA - BAS ofl e Gl imE=T
AHINEH & Sot2iel 16,700 15,850 850
= 1,020
= 5,514
i 10,166
S1eHd Xzt 7,300 7,300 0
101 el21d| 6,000 6,000
04 JIZtH2 2 XS2E=+ 6,000 6,000 0
OSIHZ2LIEHRZA 2124H|
250,000 *2Q1x12& 6,000
201 Let23| 1,300 1,300 0
01 Al= 22l 1,300 1,300
OolY E22 HE
3002 +2Z5+5000K 800
OSIIHM25| BaLe
100,000&%1021*13] 1,000
T SHZLIEHRE2E 6,000 6,000 0
& 4,800
i 1,200
101 QI124H] 6,000 6,000 0
= 4,800
i 1,200
04 JIZtH22 XS 2= 6,000 6,000 0
= SISUEIQE 2218l XA
250,000 %22!x 123 6,000
= 4,800
i 1,200
et A XA 3,400 2,550 850
= 1,020
= 714
i 1,666
301 Et2HS 3,400 0 3,400
= 1,020
= 714
i 1,666
14 J0IEt2d= 3,400 0 3,400
OFebrAga XA
850,000 «4I4 4 3,400
= 1,020
= 714
i 1,666
dSAE=E 2 262,447 2,820,169 AN2,857,722
& 11,820
i 250,627
HSAE2ACI2S 262,447 2,820,169 N2,557,722
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SA: FHRSH
M MEAZ2YRE
el MSAZ2HL|2Y (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 11,820
= 250,627
HEANTS X2 135,807 1,567,509 A 1,431,702
101 Q14| 2,367 2,309 58
04 It 22X S22 2,367 2,309 58
OFSAIZ LHA tzx 0129
39,4402%201%302 2,367
201 LBH29Y| 32,040 31,800 240
01 Al22t2|H] 21,000 21,000 0
OFSAIE RAS g 29|
250,000 *6IH A* 128 18,000
ONEANF YoA2E 1
500,000 <6 2 3,000
0?2 B229HY 11,040 10,800 240
OAEBIEA M| - cZAIRE
70,0002 *6) Ax 128 5,040
ONEANH ARD AL
500,000 %671 A 3,000
OANFEEA RX24
500,000 6 2 3,000
301 YA 41,400 41,400
14 J|Et2 A2 41,400 41,400 0
OB USIAIZ 22| A4 41,400
OAHS - CHY - SARAIE
600,000 *3IH A+ 128 21,600
OMZ - 31| - SHHAIR
550,0002 %304 A% 122 19,800
401 AlEHIL S| 50,000 1,492,000 A1,442,000
01 Al&HI 50,000 1,492,000 A1,442,000
ONEANT BIANEE ELBAHSAN)
50,000,000 50,000
405 XHAHEISH 10,000 0 10,000
01 AL 2EF SH 10,000 10,000
OFSAIZ S8HNH 22 22
10,000,000 10,000
HEANY 243 =X 33,000 72,000 239,000
201 Lty 33,000 62,000 229,000
01 Al22+2|H| 33,000 32,000 1,000
OXSAIZ 243 oY - E22 R S
3,000,000 3,000
OFEAIZ 2I0IEHHA AlY EX
5,000,0002 %374 2#23] 30,000
HMEANE STHBHMXIR A 3,640 660 2,980
[ 1,820
= 1,820
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SAM FRusSo

M MEAZSIDR
el MSAZ2HL|2Y CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
307 220l 3,640 660 2,980
[ 1,820
- 1,820
02 DIZFHAAIIE X 3,640 660 2,980
ONSAIE SHUZHXI A
3,640,000 3,640
=S 1,820
= 1,820
NHANE A28 NE ALY 28,000 0 28,000
401 A2HI 22 28,000 0 28,000
01 A& 28,000 28,000
OAFEAIR Z=AI=8 AE Al B2 H2| 8
= 28,000,000 28,000
MEAIZ AXISIOISAIY 62,000 0 62,000
== 10,000
@ 52,000
201 ZEr=g| 50,000 0 50,000
=S 4,000
@ 46,000
03 #AF= S| 50,000 0 50,000
ONEAI ZHXIBHOISAIY 50,000
02FRIAEH B3 A
10,000,00024%33 30,000
[ 4,000
- 26,000
OHEAT 2 KlZHA
20,000,000 *13] 20,000
307 QI2F0/A 12,000 0 12,000
[ 6,000
- 6,000
04 DIZFBHAAI B & 12,000 0 12,000
OHSAIT BY ZOHA}
3,000,000 x40 A% 15] 12,000
[ 6,000
- 6,000
02 =& 9 otF, 22X =X =8 2,970,362 3,152,272 181,910
2 181,841
== 271,270
@ 2,517,251
LHAIQls AlQioh 1,358,416 1,265,802 9,504
== 196,270
- 1,162, 146
HAQIE AR =& 16,670 16,170 500
201 LEr=2g| 8,870 7,370 1,500
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A BHuSH
N D=

Ciel LAl At (Eiol: m2)
SN - FE - SRI(E) - KIRAY - BSS Ol st Gl HIRE2
01 AF22t2IHI 8,870 7,370 1,500
OLXeIHE E22 MR
2,00024*1,0000H 2,000
OZZURI2IAIAXIE S I A
2,50024*5000K 1,250
OXFL3I0tE AUE AL B4
300,0002%53] 1,500
ORI aary 100,0002*621%23] 1,200
OMBIEHBMER 22 HEY S X
2,000 *5000K 1,000
OSZH|(L X2 HEYREA)
8,000 *321%804! 1,920
202 Ot 7,200 7,200
ENGE 7,200 7,200
ORI HELREA
200,0002%301x 122 7,200
301 LEEAS 600 1,600 1,000
11 BAFAHIXIRZ2 600 1,600 1,000
OLXie|etats| &A
20,0002 *1501x23] 600
AXIME 2 (XHH) 48,067 44,479 3,588
101 Q124H| 38,154 35,186 2,968
03 22E(I|HL) 22X 38, 154 35,186 2,98
OALEFAF HHX] 38,154
0122 2,558,610 x101x 122 30,704
A RE Y 170,000 %101+ 122 2,040
0YE=OH| 2,558, 610=%101x60%*23] 3,071
0tE< 40,0002 12 480
A& 2R 185,816 R*10! 1,859
202 Ot 2,400 2,400
01 2LH0IH 2,400 2,400 0
OUXIZIHIE asH
200,000 %101 122 2,400
304 oI3RY2S 7,513 6,893 620
04 2RE(PI|HL) 22X LE2RY2 S 7,513 6,893 620
O222 282 2ya 7,513
0=01013 38,351,800 %4 .5% 1,726
0=HBEEH= 38,351,80024%3.545% 1,360
RIRYLEH= 1,359,57124x12.81% 175
0EEE= 38,351,800 *1.75% 672
L= = 38,351,800 % 1. 0% 384
OEIZIZRYS 38,351,8002%1/12 3,1%
AEZ URRIME IPIRE 2B e 29 743 0 743
201 LEH2HH 743 0 743
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2AM:

= E% =X & oty 221 =X A
ol HARIE AR (CHR: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
02 2=223H| 743 0 743
ONET UTCIME IPIE LEig =
= 16.51%50001x3024 %32 743
HAE WELESE ONE XA 10,000 10,000 0
& 4,000
= 6,000
201 L2 3| 10,000 10,000 0
& 4,000
= 6,000
03 A2 FH| 10,000 10,000 0
OASY THEets| N
10,000,000 10,000
= 4,000
o 6,000
CHetol= XILRIXIZ IS MM AL 7,000 7,000
201 L2 3FH| 7,000 7,000
03 A2 FH| 7,000 0 7,000
QUAL Z)I EA 2H 7,000,000 7,000
Or=32 SEAE 2,000 2,000 0
201 etz 3F| 2,000 2,000
02 S=2Z| 2,000 2,000 0
onrsse Al sXizell
2,000,000 2,000
AMIFD|IY & 0201 EEXA 60,000 60,000 0
307 QI2H0| M 60,000 60,000
02 QIZHBAANSBEE 60,000 60,000
ORI 60,000,000 60,000
NEEs 02018 e diielss 50,000 50,000 0
307 SI2t01 & 50,000 50,000 0
02 QIZHEAAIRIE X 50,000 50,000
OXYE3S 0201y algs dXiess
50,000,000 50,000
NEBSH LX2IAIS (HEAIS) 432,869 332,468 100,401
= 192,270
o 240,599
101 Ql24y| 432,869 332,468 100,401
= 192,270
= 240,599
04 JIZtNI2Z2XREE S 432,869 332,468 100,401
OXEBSHLXIZIAIY QIA4H| 432,869
0= 1,084, 60024%2701% 102 292,842
& 192,270
i 100,572




2A:

PSECR E% =X U oH, 22K} =X =&
CHel: LAl ATHH (Crof: M2l
S - ZE - BRIEH) - MIRAIR - B e Gl inE=gt
0=t 246, 5002 *x2721x 102 66,555
0Z+AH| 110,0004%2721% 102 29,700
020113 389,097,000 +4. 5% 17,510
0HE=2S 389,097,0002%3.545% 13,794
0BIREEE 13,793,48024%12.81% 1,767
0LE=RER 389,097,000 %1.75% 6,810
M2 = 389,097,000 1% 3,891
AEE UX2IALY 731,067 731,067
101 Q124H] 731,067 0 731,067
M JIZH22IEES 731,067 0 731,067
OAFEE ATt2IAFY Q12| 731,067
0ol=2 1,084,600 +5701x82 494,578
0=FAXt S 246,500 *57 01«82 112,404
0Z+AH| 110,00024x5701+82 50, 160
020113 657, 141,60024 x4 . 5% 29,572
0HE=2S 657, 141,6002%3.545% 23,29
RIRYEE 23,295,66024+12.81% 2,985
01E=2S 657, 141,60024%1.75% 11,500
0MTHES 657,141,600 1% 6,572
ZDO2AY 1,238,209 680,814 557,395
XX 2222 A 1,238,209 680,814 557,395
101 Q124H| 1,226,209 668,814 557,395
VBIE I 1,226,209 668,814 557,395
OZZ2Z ALY 0124t] 1,226,209
0123 1,084,600247721%102 835, 142
((ES Py 246, 5002 *7701x 10 189,805
0Z+AH| 100, 0004%7721% 102 77,000
020113 1,101,947 000244 . 5% 49,588
0HE2E= 1,107 ,947,0002!%3.545% 39,217
WRQYEEE 39,276,00024+12.81% 5,032
0LE=RER 1,101,947,0002 %1.75% 19,285
M2 = 1,107,947,0002! % 1% 11,080
206 HEH] 12,000 12,000 0
01 X2l 12,000 12,000
O232=AIY MSH| 12,000,000 12,000
ANBIEZEHIY SAAIS 105,000 360,700 NA255,700
z 78,750
[ 18,375
= 7.875
ABIED|Y SEXI(LRI2IEE) 105,000 306,700 A201,700
z 78,750
[ 18,375
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SAM FRusSo

M g 58 L ory, 22X =X S
= AR REMDIY SHAS (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 7,875
307 SI2t01 & 105,000 306,700 A201,700
= 78,750
= 18,375
o 7,875
02 QIRHBAIAHE R 105,000 306,700 A201,700
OMEIFD Y SR (LREIEE)
105,000,000& 105,000
= 78,750
= 18,375
o 7,875
NEF=EE FALRel A 268,737 751,886 A483,149
= 103,091
= 56,625
o 109,021
M EZH HERE ZZHEAIY 20,000 40,626 220,626
s 10,000
= 3,000
o 7,000
307 212t01& 20,000 40,626 220,626
s 10,000
& 3,000
i 7,000
02 CIZHEAAIRIE X 20,000 40,626 A20,626
OFOEYE 22| 20,000,0002! 20,000
s 10,000
& 3,000
i 7,000
dEe D.N.A. MEQE 2HAIS 107,816 285,500 AN177,684
s 53,905
& 17,092
i 36,819
301 LEBNZ 6,700 19,000 A12,300
14 J|Et243 6,700 19,000 212,300
OXEXIRZ 6,700,000 6,700
308 AHXIHMSOI&E 101,116 266,500 A165,384
s 53,905
& 17,092
i 30,119
13 S| 2S0ICHEHE & E 2[EF AL S| 101,116 266,500 A165,384
OEFNWEYE eld 101,116,0002 101,116
s 53,905
& 17,092
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M ZHuSH
PSEYR
o /e

cH):

ol Uz

e

HJ

30,119

Moo

81,201
39,186
12,713
29,302

231,000

A149,799

308 AXIEHISOIE

HH A

81,201
39,186
12,713
29,302

231,000

149,799

81,201,000

HH A

81,201

81,201
39,186
12,713
29,302

231,000

149,799

M H

33,700
10,810
22,890

33,700

M H

33,700
10,810
22,890

33,700

33,700,000

Mo

33,700
33,700
10,810
22,890

33,700

MmN

26,020
13,010
13,010

16,000

10,020

308 AXIEHISOIE

M H

26,020
13,010
13,010

16,000

10,020

13 SV |2 SO CHEH &2 E A

OZt=g FESE N3AAMY

26,020,000

Mo

26,020

26,020
13,010
13,010

16,000

10,020

IR o™ 2 B A

HH W

2,919,320
1,184,251

147,353
1,587,716

6,119,597

A3,200,277

KIS0 2tel

hoH

2,569,320
1,116,575
124,353

4,342,020

A1,772,700
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2AM:

F M

M S
UIEPNIRCIZSINEUR= =) Fal

cHel: X0 X 22 (Crof: M2l
SA - B - BRI(E) - MRAY - BaS e Gl HImS2
= 1,328,392
NENTEPNEEE] 10,120 10,120
201 L2 A 2,920 2,920 0
IACEE 2,920 2,920 0
ONUx 21 222 M=
1,000,000 1,000
OSZHI(HU X 22| REA)
8,00024*301x804! 1,920
202 Ot 7,200 7,200 0
ENGE 7,200 7,200
O X 22| S P48
200,0002*301x 128 7,200
LPGED| AZIt AIEIHE AL 6,750 8,250 AT1,500
= 3,375
= 3,375
403 XX SRS XHE0|& 6,750 8,250 AT1,500
= 3,375
= 3,375
02 2| ZENCHE RH2 X R|EFAL 6,750 8,250 1,500
OLPGEI| AFRIIR Al&IHE A
225,0002430 0+ 6,750
= 3,375
= 3,375
XL AIEIHE AR (R 2HIZ) 234,200 350,000 A115,800
[ 10,230
= 223,970
401 AlEHI 2L 20 234,200 350,000 A115,800
[ 10,230
= 223,970
01 Al&H] 234,200 350,000 A115,800
OMASE HIIAE HEAS(BX)
300,0002%114J+72 34,200
[ 10,230
= 23,970
OLSz=e Q5 ®MI|AIA MM AR (XHAI)
2,500,000 %807} 7 200,000
HASES SAAY 26,000 43,000 A17,000
= 18,200
= 7.800
401 Al&EHI L2 0HH 26,000 43,000 A17,000
= 18,200
= 7.800
01 Al&H] 26,000 43,000 A17,000
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2AM:

K ZH

M S
UIEPNIRCIZSINEUR= =) Fal

Sl XSO 22 (choy: 242
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OMASE LEDAE WHAY
26,000,000& 26,000
= 18,200
i 7,800
JIAEIZEE B5AH 17,000 20,400 3,400
401 AIZHIZ 20| 17,000 20,400 3,400
01 Al&H] 17,000 20,400 3,400
OINAEISEE (UHSIUHEX]) E8AY
68,0002 x250 0+ 17,000
LPIIAAISAIE QHE 22| CHR AL 282,250 282,250 0
403 MR HSAH=01A 282,250 282,250
02 SISO UEA=HAS A 282,250 282,250
OLPIIAARSAIE St 2| TR AL
282,250,000 282,250
QHEFOFAHS HIISHHUE AL XIRA 22,000 2,500 19,500
= 4,623
o 17,377
401 AIZHIZ 20| 22,000 2,500 19,500
= 4,623
i 17,377
01 Al&H] 22,000 2,500 19,500
O4z2tE A3E5 EXMY
22,000,000& 22,000
& 4,623
i 17,377
AET BHER LPG B2 =AY 1,971,000 0 1,971,000
= 1,095,000
& 109,500
i 766,500
402 BIZtAH=01 M 1,971,000 0 1,971,000
= 1,095,000
& 109,500
i 766,500
03 2IZtAEAIZHI 1,971,000 0 1,971,000
OSIEte] LPGHR2tZ REALA(AIES At2l)
1,971,000, 000& 1,971,000
= 1,095,000
& 109,500
i 766,500
ATHAN UK ES A 350,000 1,777,577 1,427,577
= 67,676
= 23,000
[ 259,324
AITHH0IL X 2HCHD 1B ALY 176,000 124,689 51,311
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2AM:
X{XH -
o /e

cH):

M S
OIHAl otN & B85 JHA
A0 KT 2 S AHY

S B SRI(BH) - HRAY - BAS

PIE]=>
e

Ao

67,676
108,324

401 AIZHIZL 200

Ao

176,000
67,676
108,324

124,689

51,311

01 Al&H]

OBBAIE B2 HXIAF(6IHL)

02 Zeldl

o
OZ3AI4 B EXIAE ZelES

162,000, 000&

14,000,000

MW

162,000

162,000
67,676
94,324
14,000

14,000

116,689

8,000

45,311

6,000

AT X =X RALS

MmN

168,000
20,000
148,000

130,000

38,000
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